TpeHaxep no
MaTeMmaTuke ( YCTHbIU
 CueF| el RIQOEH KA.

YUTENb HaYvasibHbIX KITacCcoB,
HOy rmvmHa3sns «lllkona 6|/|3Heca» r. Coum



BbINONMHNA YMHOXEHUE U
neneHune

2 X5 18:22 x4
7Xx2 8:2

12:6 2x9 10:5
6:2 8X2




BbINONMHNA YMHOXEHUE U

neneHune
2X6 2x220:2
3X2 18:9

2:1 14:210Xx2
6:3  4X%2




BbINONMHNA YMHOXEHUE U

nerneHme
2X10 352 2:2
6X2 14:7

12:6 4:2 8X2
8:2 IX2




BbINONMHNA YMHOXEHUE U
neneHune

4x2 Ox2 8:2
2X2  6:2

18:2 16:2 5X2
10: 2 7X2




BbINONMHNA YMHOXEHUE U
neneHune

7X2 10x216:2
6x2 2:1

12:2 4:2 3X2
18 :2 8X2




BbINONMHNA YMHOXEHUE U
neneHune

8X2 11x218:9
4X2 12:6

14:2 20:2 7X2
10:5 2X3




Pewn  ypaBHeHUeE
X :6=2, =
5xXxz2=10, z-=
14:c =7, .
bXa=12, a-=
v:2=4, y =




Pewn  ypaBHeHue

X:9=2, X =
4Xz=8, Z =
20:C =2, =
2Xa=16, a-=

v:2=4, V=



Pewn  ypaBHeHUeE
X:2=5, x=
10 x z = 20, z =
22:¢=2, C=
2Xa=18, a-=
v:2=17, y =




Pewn  ypaBHeHUeE
X:2=6, x=
2 Xz=14, = B
16:c=2, c= B
2xa=10, a= B
y:2=3, v= B




